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INSTRUCTIONS TO STUDENTS

1. Do not turn over this page until you are told to do so.

2. Follow all instructions carefully.
3. Answer all questions.
4. Write your answers in this booklet.
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Multiole Choice Questio.ns (MCQ)

Questions I to 5 carry 1 mark each. For each question, fouroptions are given.

One of them is the conect answer. Make your choice (1, 2, 3 or 4) and write
your answer (1,2,3 or 4) in the bracket ( ) provided.

(5 marks)

1. What is three thousand, six hundred and six written as a numeral?

(1)

(2>

(3)

(4)

3066

3366

3606

3660

( )

()

2. What is the missing number in the equation beloW?

7O23= 7000 + +3

(1) 203

(2\ 2oo

(3) 23

(4) 2a

1

?



3. Arrange the fractions in orderfrorn the greatest to the smallest.

Greatest

I
7

Z
8

L
2

Sm4llest

L
2

2
E

L
2

0
7

!
7

g
7

ZI
2
I

(1)

(2)

(3)

(4)

?
8

L
2

E

7

L
2

4. Express 2080 g in kilograms and gmms.

(1)

(2't

(3)

(4)

2kg8g

2kg8Og

2okgBg

20kg80g

()

()

2

, ,

,

,



5. Each has an area of 1 square unit.

1

/
/

/
/

unit
<---+

1 unit
 
t

What is the area of the figure above?

(1)

(2)

(3)

(4)

23 square units

21 square units

19 sguare units

18 square units

( )

3



Short-Answer Questions (SAQ)
Questions 6 to 13 carry 1 mark each. Write your answers in the spaces
provided. For questions which require units, give your answers in the units
stated.

(8 marks)

6. What is the missing denominator?

Ans:

og
5 ?

7 Express # '" 
its simptestform

Ans:

8. How many acute angles are there in the figure below?

4

Ans:



9. Find the perimeter of the square.

9cm

Ans: cm

10. The length of a rectangular grass patch is I m.

Its breadth is 7 m.
What is the area of the grass Patch?

Ans: m2

11, Write the time 00 10 in 12-hour clock-

5

Ans:



12. Axel started to cycle at 11 30.
He finished cycling al 13 17.
How long did he cycle?

Ans: h min

13. There are 3 bags, A, B and C.
All the pens in each bag are put into groups of 6.

Bag A Bag B

Bag A has36 pens.
It contains the least number of pens.
The number of pens in Bag B is betreen 45 and 50.
Bag C has fewer pens than Bag B.
How many pens are there in Bag C?

Bag C

o

Ans

) )



Short-Answer Questions (SAQ)
Questions 14to 23 carry 2 marks each. Show your working clearly and write
your answers in the spaces provided. For questions which require units, give
your answers in the units stated.

(20 marks)

14. Look at the number patterns below.
Find the missing number in each number pattem.

(a) 3699 3709 3809 , 3819 , 3919 , 3929 ,

4039 , 4139

Ans: (a)

(b) 7489 7539 7589 7639 7689

Ans: (b)

?

?

15. (a) Find the sum of 560 and 1320.

(b) 8001 - = 2417

Ans: (a)

?

Ans: (b)

7

t t



16. (a) Michelle bought 5 trays of eggs.
Each tray had 8 eggs.
How many eggs did Michelle buy altogetheP

Ans: (a)

(b) Michelle used 4 eggs to bake each cake.
How many cakes could she bake with allthe eggs that she
bought?

Ans: (b)

17. Look at the figure below.
AB, BC, CD, DE and EF are straight lines

(a) Narne a pair of parallel lines

Ans:

(b) Name a pair of perpendicular lines.

Ans:

and

I \

\ \
\ ( \

\
\

\

\ \
\ \

I l

)

and

8



18. Cheva formed 2 different numbers using the digit cards below
Each digit can only be used once for each number-

(a) For the first number, he formed the smallest 4-digit odd number.
What number did he form?

Ans: (a)

(b) Forthe second number, he formed the greatest 3-digit even number
between 800 and 900.
What number did he form?

Ans: (b)

3B I 0 I

19. A wallet costs $56.90.
A water bottle costs $12.50 less than the wallet.
How much does the water bottle cost?

Ans: $

I



20. Look at the number lines below.

Find the difference between B and A.

B

Ans

21 Li Meng started doing her homework at 14 30.
She took t h to vwite an Engllsh composition.
She then took another t h 35 min to solve some word problerns.
What time did she complete her hornework?

10

Ans:

I I

I

0



22 There were some students in the library at firct.
tr8 students left the library.
13 students then went into the library.
ln the end, there were 312 students left in the library
How many students were there in the library at first?

Ans:

23. Joey has 76 sweets.
She packs all the sweets into bags of 3 sweets or bags of 5 wveets.
She has 20 bags of sweets after packing.
How many bags of 3 sweets are there?

11

Ans:



Lonq-Answer Questions (LAQ)
For questions 24 to 28, show your working clearly and write your answers in
the spaces provided. The number of marks available is shown in brackets [ ]
at the end of each question or part-question.

(17 marks)

24. The bar graph shows the number of egg sandwiches and tuna
sandwiches sold at Nanyang Cafe from Monday to Thursday.

Number of sandwiches sold at ltlanyang Cafe

Thu

Wed

Day

Tue
nTuna

@Eqg

Mon

0102a30405060
Number of sandwiches

7A 80 90

(a) How many more tuna sandwiches than egg sandwiches were sold
on Tuesday?

,,ru

,m

12

Ans: (a) 11l



(b)

(c)

Which day had the greatest difference in the number of egg

sandwiches and tuna sandwiches sold?

Ans: (b)

The cafe sold each egg sandwich for $2.
What was the total amount collected from the sale of egg
sandwiches on Wednesday and Thursday?

t1I

13

Ans: (c) t11



25. Ali had 128 more stickers than Bala at first.
Aligave 25 stickers to Bala.
How many more stickers did Ali have than Bala in the end?

Ans: l3l

26 There was a total of 756 visitors at the zoo.
There were 3 times t's many chlfcfren as adults.
How many more children than adults were there?

14

Ans: 13l



27 A total of 382 packets of biscuits were collected for a donation drive on
Satuday and Sunday
These biscuits collected were given.to families.
Each family was given 6 packets of biscuits.

(a) What was the greatest number of families that received the
biscuits?

Ans: (a) 121

(b) 22 mare packets of biscu'lts were collected on Sunday than on

Saturday.
How many packets of biscuits were collected on Saturday?

Ans: (b)

15

121



28. A pailcontains 5320 mlof water.
Meera poured away 447O ml of water from the pail.

(a) How much water was left in the pail?

Ans: (a) l2l

(b) Meera poured all the water left in the pail equally into 5 identical
empty jugs.
How much water did she pour into each jug?

Ans: (b)

16

l2l

Erd of Paper



.Eultl+chgleouBtlon cot'B:rffi :.?'"?9,1"R=:mf*ffim:i,i:,"ji?xi*f 
if;llyourar*rer('1, 2, 3 or 4l t 6 11

Arange ths {ractl'N In odo! lrom the grstest lo the smallesL

,29
;67

3.

(5 ma*s)

Smallest

1.
Gr@lsslwhat is throe thousa rrcr, srx hwldred and six w'.itt6n I A nurrE€l? Z

8

1
2

i
!
7

1

I
L
2

5
7

(1) i
(2) i
(3) i
(1) A

(1) 3006

(2) 3366

(3) 3606

(4) 3660

Whst h the.mbsing numb€.ln the equaljon belsw?
7023=7ooo+ f--F*-l .s

{1) ?i3

Eacrr [has en ama of 1 sqEE unit.

I unlt

ttt
ttl
ll,l

tlt
What ls tho aroa of tho ,lgure 6bov6?

tl) 23squaBUni[s

(2) 2l squaB uils

(3) 18 6quae mits

(4) 18 squaE unils

(l )

(3,
2.

4. ExPre$ 2O8O I in t[ogBnE and gEm$

(1) 2kg8g

(2) 2kg80s

(3) 20rs8e

(4) 20 ks 80 s

2@

23

n

(2t

(3)

(4)
1x)

t4)

2

1 untt

short-Arswer ourstlons (SAQ)
Qffitlas 6 b 13 €ry 1 mark eech. Write your aose6 ln tha spaes
pEvldod- For qusstloN whtoh Gquho unlts, givo your €oilsE kl the tnlts
stated,

(8 mrks)

WIBI ls tbo mlssing derPmlnsba
tr,3 -g- g

t --ra- [1J

5x 3: 15

0.

Ans: l5

T. exnres -ff ln lE simpGst fom.

t+_:-
55.--- 5

+1

(1) 8. tld,v tmy ac1de anglss at€ thaG ln thg fiOuP balae/,

A'Ei
z

https://freetestpaper.com/


a. Find U:o psiffitor onhg 6quar6, 12. Axd ctaned b clndg d, 1 1 90.
He inlshad cydlrB at 13 1I.
How lon€ dH he cyclo?

sat
lh SE ril l-IFi4

,/'-\.---\i-:\

, h + 30 dn + i'I min = lh 11nin

enc l. h i-l mn

r,i" -EE--Eo-lIi

9+1+4lizib

qx *, 3c

or
13, TheEED0bsg6,ABDndC.

il t; ;; ;E;i; ii i ld'"*{e.urs-;A

:0. TtE ierBth of r ccbrgLls gG$ palch ls B m-
{E blEodh i5 ? rL
\rlhd iBth€ sEa of lha gras6 pslrh?

rtcr= I x 7
35b

Bsg A

Bag A tar 30 pm

Beg B

It @flidhs [ra te€tt r$r*€r o, PaG
Tho numEr d pott ln B€9 B is bBtw8m 45 and 50'
BrD C hri bwp€rE 0r8n Bog E.
llr* marv Fffi st! lhom tn Bsg C?

L'ot all *rrtiples d L

35, +1 r +8

BoC C

tuis: 5L

1't. WdIPOE lrrB08 10ln tz+oudocl.

0olD is l2:ooam
(of+tr miariJhr)

a,ng: l1 : loam +1

6

Shsl-ANw Quertlam {sAo)
ql8silm8 14 !o A eaEy 2 marl.g sBdL Slw }qr Erting qEarly ond rrrto
Frll s8wsE h lho 6pos! Fmlded. For qB*B $,hlch rEqdB unlh. {t!a
Idur anBirgIi In ti€ rnild slEtd.

{r0 ltql.s]

{a) Mkfiello bol4htS IFF of 60{&
Each tray hsd B agor.
Hil mtny egg3 dld !,l.islEla DlJ, oltpg e{Er?

51 3rtlc

AnEl (B) +o

{D} ilkhsrs used 4 Eggs b bak6 Bach caka'
l-bw nsny ahat @ul, she bala Eilh oI Era oqEt tlst lhe
bswhf?.

44?4=lo

Ana tb) ID

Lo€k zt !'6 figrrB b€'bv/,
AB,' BG. CO, pE rnd EF BB rtnlgm llrlei

t6) taama psltof pEmlldunss.

tg: AB and Ef

(b) Ngne a pdrorPelptdlilbtlnl6.

Au: BC- ana CD

1B-

11. LNhdihEuur$erpslimbelw,
Flnd lha nb5hE rrrnbsr ln aach numb€r ps[m.

+lo +rDo +ta +$o

(e)
4&le ,4139

34fq+ too e *o11

, 38m , 0919 . COl' , 3829 ?

O) [--T-l . ?{aE . 7s3s} ?s8e . 7os9 70Bs---i* r\---'\-JH H-=r- -& -51
_J+69_ So, 1l3q

nopt .{o1'1 - --

An< Ib, 1t3 t ."

't7.

'16. (a) Firdtherumo!560and 1320.

l310
+ 5!D
lEeo

G) oel - D= ztrt
- {lu'80N
-14 r?

5s e4

ArB: (s, I 8BO

1

AE&) .t58+

Ans: ,-iL crn



I 3 9 0 1

18. Ctwa fomed 2 dittorent nurtbers uslng the dbil BIds bebur.
Eeh dlgit can only ba ussd fice ticr each numbar.

(a) For ths ,tEt numbor. he bmed tlF smallasl4-dblt odd rrumber'
whst numberdld hs bm?

9o noi s*ar*qfrlh'01I 03
T--

8odlrs+
lre: (s) Io31

(b) Forths second number, ha fomed lhe gEatest 3dlgit oven numbar
batw*n 800 ard 9)0.
What numberdH ha fm?

Ans: (b) 8qo

A wallot cosB $56.S0,
A mterbottle cosB Si?.50 les than lhe mlloL
How mlri does itE wal* bot0o cott?

Sse.qo- $lr'50 = l4+.llo

Am:$ ++-40

I

22- TheE EE sm6 sludsnts ln th8 hbrary at llrst.
lE sludsts tefr tlp llbErY.
,3 Btudsts llsn vrgnt lnto the nbrary.
ln tho 6nd, lheE n6r€ 312 sludante lsft h the lbnry'
How many sfudelil3 v/ErB thsre h tho llbrary at lict?

3t7- b = 2qq

e91 + t8 ;31'1

3rl

20. L@k at lhB nutnbgt tims belo*.

J
a

Flnd lhc dlffsBoc€ betresn B atd A

q

T
1r?dles+

odd

e 10
s'latlcsi

cva4

r3'] ?

-+-1-a?
_t-e

! oe ega\valca*
Am:

21. Ll Meng slarled dolng het hffiewo,k ot 14 30'

Shs to;k t h 1o trlte .n Englsh comPosi{on'

Si" Go t*t 
"*n 

t t h 3B mln to sotYe some md problerc'

what llma dB she complota het horeu,trk?

19.

It4 35mrn

l+ io ts"o $ra !?05

Ans: l-t 05 or 5:05 Pt

t0

Lonq-Anffi r QuEtlons (LtrQ'l
-iil;iffi;B 21GE 3hd vDt worklng cl€atlv &1d

ir'e Gies povioeo. ihe numb.r of marE ilalaue l5

at th6 ond ol oach quosllofl or Parl{u'stbn'

wrile your ssors ln

Bhon ln baci(ete I I

('17mrk3)

24. The bar oraph shM hs rilrbs of egg $ndwkhss 6rd tm
.r.o.i"t.i tbu ut Hanlang CefB IDm Morday to Thucday'

Nmbcr o, aand$lch€s lold 't Nanysg Cafo

Day

Thu

Wed

Ts

Mon

oTuB
@Eaa2X. Joey has 70 6!Psts.

sh;packr all the $rreel3 hlo bags of 3 sweB q bags of 5 ilsts'
Shs htr 20 bass ol MeB atler Pac*|ng.
How many bagg of 3 6sets aru there?

11+ 8 =

Su1osc all aa bqgg of 3 swaets

2A, != bo

1b'60= tb

5'3tl
lb? r,8
7o'$ = )L

SrTyosc all act bags.4 5 swals
2ox5< too

(a) How'marry mre hna sarrdwidE6 lhan egg sandwlches weB $ld
on Tresday?

10 m 30 ./t0 50 60 70

Nrimbsi o[ rlndrlches
80 s0

t4e+hod

I

ladtod
J

loo- lb, *1
5-3=l

2.+?r- 2la

No. ot ba4s
cf 3swdt

No, o{r

6wtzts
No. of begJ
o F 5 rwpeb

htro. at
Svrz2lg

'tulal ,b,
of swu+B

8 g x5=4o ?b+40=1bla llx 3 =36

Mtltod

11

lz

80- +5 " 35

12

Ar$ (a) 
--i:-tll

3



(b) Whlch dey had thB grealEl dlEerence ln th€ oumber of egg
sardwlcJEs and tuna Eandwhhec soB?

AG: tbr Moaday r11t. I t,

(c) The efe sold e*h egg sand$ddr for $2.
What was tha lolal amnl cdloc,ted tDm ths sal€ of egg
sandwi.rps on lr,hdnwdsy 6rd Thmday?

10l5O = laO

l2:o,.A - a+a

Ans: (c) $r+o

13

38i+ 6: 639.+

are: 1a1 63 
121

(b) 22 rors pac.kele of Usolts s€B s$ected m Swday than on
Sahr.day,
How ruDy peckgls ot blsuits wsB co$€cted on Satuntey?

3Et -e2= 359

360-)= l8o

An6: (b)

25. Afi h8d 128 rocstid(ssthffi Balaat{lrsl
AI gar€ 25 stidcE to Bata.
tlow many mom stiokeB dd A,i haw lh3n Bala ln th8 end?

25+ f5 = 50

la8 - ro: l8

.ii,:.

tr li

Sqlq

(-1l8--)

7

18
t3]Atr:

26. TheF ms a toial of 756 vrsltols sl the zoo.
Th€rs wsre 3 lime$ 6 rnany chlld€n s adults.
Ibw many oolE drlldM than adults rep lhere?

ChitJrtn

Adurk' L]|-?----r
756

'759: 4: rB9

16i11:3'f t
{ } u"i*)

[z u^i+s)

AE: 3f8 
Bt

,14

2t. A total o, 382 packsts of blscutts E s E[61ed ftr a donatbn dr,v€ o.
Sahrday ard Sunday.
Th€ss UssiLs @lbsied w givmto lamflias.
Each fBmly w gfuen 6 packats of bisals-

(e) What ms the gEalost nurnb€r ol famluas lhat Bcehad lh€
blscullsT

2a. A pall €ntabB5320 ml ot watof,
Mffi pourcd &sy t1470 mlof wat€; fmm tho PalL

(a) Flw IMh water Ms lefr ln the pdn

Jrrn

&r
39L

s7".otr,l 

-, ,..

53ro-1tq1s= g5s

ens: 1a1 85o'ro[ 
121

(b) M6srd poupd all the Elsr la& ln the psil gquBIy lnte 5 bentbal
emply,ugs.
H# muc*r mter did she @ur lnto each jr€?

850=5:l-ro

AB: (b) l7o Dl 
I2i

EM ot Paper

<_

?oud asly 'l lef+

15

l8o 
lrl

16


